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Pirate Perimeter Problems. 

Captain  Jack needs to have water with the         
perimeter of 28m to launch his boat, which stretch 
of water would suit his needs?  

Captain  Pugwash needs to launch his boat in water 
with a perimeter of 8m. Which area should he 
choose?  

1 cm square = 1m 

Long John Silver has a boat full of booty and needs 
to dock his boat in water with a perimeter of      
between 28m and 34m. Which area of water can he 
choose? 

Blackbeard has taken a lot of damage to his boat 
and needs to dock in water with a perimeter of 
24m. Which area of water can he choose? 

Captain Hook has run out of rum and needs to dock 
quickly in water with a perimeter of 10m. Which  
area of water should he dock in? 

Captain Bones has run out of seed for his parrot and 
needs to dock quickly in water with a perimeter of 
16m. Which  area of water should he dock in? 

A monster has attacked Pirate Pegs ship and she 
needs to dock the ship quickly in water with a         
perimeter of 30m. Which  area of water should he 
dock in? 


